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Answer the following Questions: PAGY) AW e o

1 - Mention the importance of studying 1 5S30 -
body waves of earthquakes. (IS BB AT Sl gl Al o]

2 - Choose the correct answer: + daG8 Asvouall dala ¥ sl - Y
A mineral has specific gravity of 19.3 | 31 eiin V0¥ esidt asyy suas
related to ............... group. | e ac yore
@ Silicates. LSt @
@ Sulphates. ol S @
@ Oxides. S @
@ Native elements minerals. RIYOTIIURTRY @

3 - Answer one of the following (A) or (B): | :@3 (<) 5i (1) ot 13wt asi st -¥
Write the scientific term: 1 olal! zllaaal! LIS
(A) The sediments that take the form of a | LS8, cauai Ui e cuuly) (1)

half circle position, its center the outlet Sl e

of the canyon (khowr). Ahphig nond| S piin Sl ()
(B) small grained size and light weight of | 3 Jhatally 2l o 0351

mud (silt and clay) move as suspended Tl 8 4Tl slga s Ao

materials or grains in rivers.
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4 - Give reason for: riby Lat Yo - £
Coal is usually formed in the swamp land | claacwet!Glolio ;2 5ske mamal109Sh
behind river deltas. OlEY I ols ats

5 - What would happen if....... s e Gy 113 L0 -0

Presence of iron oxide impurities in quartz. |f--o! sl (e cilss ole 53,1551 ¢l gi!
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6 - Mention one similarity and one
difference between:
Producers and decomposers.

=Ty Adul ‘n:\.}‘} L;?j =S =1
1O RIS
Allonad | LSS o 12R0 Avinad| SLSISI

Producers
£ 120 Amiied | OLSLST

Decomposers
Ao LIS

Similarity
Aoy

Difference
S Y

7 - Answer one of the following (A) or (B):

Compare:

(A) Grazing in weed areas & grazing in the
area of shrubs and trees.
(B) Organic fertilizers & chemical fertilizers
(concerning: its effects on soil)

12 (@) 9f (1) (13l ) | St -V
108 S G Q18
B ety wlae ¥ Ghlie B e -
Oyt g Sl Blolio
alea S BewN g B glaall Bcau N —o

(2, e sl o (ya)
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8 - Mention the geological (Period / Era) | o>stsuat siaalt gi cibontt ,S30 -A

which characterized by:
a- Accumulation of rock salt layers.
b- Pangaea started to split into pieces.

8yl pelad | Silide @S 1,5 -
(Lol St af Jladsl dglay -0

9 - «Sunlight has an effect on the daily ) -4
migration of marine animals». byt e pugate piliegalty

Discuss this statement. LaSLed ) O gt Ao g
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10 - Answer one of the following (A) or (B): | :@2 (&) ol (i) ottt i st -\

Werite the scientific term: role JIA alall mllamal! CGS)
(A) The removal of the upper layer of the | 23 claw (e Lbadt adatt a1
soil to use it in brick manufacturing. noshalldelio (B lealasin

(B) Decomposition of shaded leaves which | & &= %4 o asae ssbe o
nourishes the soil and keeps its fertility. Lty Sl d¥ Sl adlus

11 - Choose the correct answer: 1 JaGd Aomouall Al W1 y33 0 -1 )
Marriott lake formed due to................. | e A do gy B oy O 5SS
@ Degradation effect of lakes. O il aigl! Jaatl @
@ Degradation effect of seas. lld el Jeal! @
@ Sedimentation effect of lakes. O gV s ST Joat @
@ Sedimentation effect of seas. sl (s I Joall @

12 - Give reason for: ik Lt Jle -\ Y
Presence of coral reef fossils closer to | w8 awile e clad jdlaisgay
polar regions today. Al Gdaat! Gloliad !
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13 - What are the results of:

role AL yial gl Lo -\ ¥

Gradual flow of the magma in the upper | o= glas! s el 5)lgualt Ol
mantle layers from the deposition areas to | 2akaie g8 ! cow ! Zalate Jaul

the disintegration areas.

SCegand!

14 - What is the name of the mineral:
a- A green colour mineral its chemical
composition is hydrous copper carbonates.
b- Mineral is yellowish, transparent which
turns brownish colour when small
amounts of iron replace zinc in its
atomic structure.

ylialt mle JIadt Huael) @it Lo -\ £
VALY
AleasSI 4S5 puins digh Ornss -
cdile Lulsd Oli gy ,S
Ol | iy Blad yhiol Guner -0
AT O3 e I e Al
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15 - Study the given figure and answer the | o<l elei gt JSaH uysr =10

following: P AGY) A e cual
a- What is the type of structure (C)? why? $13Laly (C) oS50 55 Lo
b- Mention the type of geological structure (A). (A) ces 51 g9 S50 :Lals
c- Which structure is younger (A) or (B)? - (B) 51 (A) @ Logal <113

16 - Answer one of the following (A) or (B): | :@2 (&) o) (1) 5 3udt i 250 -1
Discuss: Je-rl
(A) From the characteristics of ecosystem | s 3iee!| ! pllaill gaslas (e -1

its mutual intricate relationships Al Jalgall G GBS
between the environmental factors.
(B) Fennec fox has characteristics for

adaption with desert environment.

Sy ddasd Olaw dliall cdaid) -0
.«2\:!3‘):-ua3|2\iﬂ3|d3).2&ﬁ
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17 - Write a brief notes about:

1&93%3;\..&&.&5‘-\\’

The economic importance of coastal delta | Lo cawly 3 dslaaia ¥l iceals

deposits in Egypt. s B ALl
18 - Compare between: 1 (LB VA

O3S H 9o g juasd!l H9So

Source rocks
sl j9o

Reservoir rocks
O H95o
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19 - Answer one of the following (A) or (B):

Write the scientific term:

(A) Fracture that resulted by compression
where the hanging wall is moving
upward with respect to those that
occupying the footwall.

(B) Fractures present in different types
of rocks; igneous, sedimentary and
metamorphic without any evidence of
movement.

103 () 91 (1) o1 3uadt i i) -1 4

 polall allaael) CCS!

dadial) (e Loy (g S 50 (1)
SHall dallat jeomio G 42y
dailodl Hgial Al el
et

9Satl (B bl g ) giuS ()
A3l Ogua (ST g dalised!

20 - Answer one of the following (A) or (B):
Choose the correct answer:
(A) When hammering the quartz it has.....

@ Cleavage in one direction.
(b) Cubic cleavage.
(©) Jagged fracture.
(@ Concoidal fracture.
(B) Mineral characterized by dull luster

(@) Pyrite

@ Kaolinite
(©) Sphalerite
@ Malachite.

1 (@) o) (1) O guadt s § 5t - Y
 donowall Al By
........ PHESC P (IS JUX TIPS ()

Ay S Fun (B Euadin @

Gl puSiay puSin @

@15 Bt et 0T Gaad ()

et (D)
e
ettt )
S YL @
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21 - Answer one of the following (A) or (B):
Explain the following:
(A) Presence of cross bedding in
sedimentary rocks.
(B) The atmospheric pressure decreased
to quarter its value at 11 km high.

103 () 9f (1) ottt 3t s § ot =Y
z)-u‘ﬁ
ssuall e adoliial| Gdaitl g (1)
A gt
died )y g9t dariall fias (@)
LS V) plas )l e

22 - What would happen if......
Presence of red algae at 50 m depth.

slacie Gidomy 13Le - Y Y

I3ie 00 Goe i sl pamt | Cdlomtal| s g3
Seladl Cummi

23 - Mention the importance of Earth
warms to agricultural soil.

W 5 GI0s Acedi 4SH) - YY
cae iy
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24 - Compare between:
Fresh water lakes and saline lakes
concerning to mode of formation.

1o (L8 =Y ¢

.w‘ Q‘J‘..""."”J Z\.J;u.ﬂ Q‘w‘

(BLacdt cus ya)

Fresh water lakes
Al O |

saline lakes
Aol 1 &y I

Mode of

formation
slacdt co (yo
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25 - Study the given figure which represents | it Jias Elolai it Jsadi -Yo
one of the tectonic motion and answer the + A0S OIS ot
following:

—continental
plate

oceanic plate

a- Mention the type of tectonic movement | s:s= sl & 5128 yodlg 5s S50 <Y
in the figure. LISt B

(;h.‘”}u | C}Lﬂ oobwd) o puid :L_;ll:v
rlast aads b (5HLal 7ol Jaud

b- Justify the oceanic plate sinks bellows
the continental plate in mantle layer.

c- Mention an example. (S o1 (p0 £ 301 1ingY Fliia S50 18
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26 - Explain the reasons of variation of S5 Ay LT Ol sy - Y1
salt concentration in sea water, -yl olee (B Agiinelt et
give examples. el ,S5 ps

27 - Mention the main elements of Awdl A wlud) o oliall €31 -YV
classification of the crystal systems. SAysld) Adas¥ g Jiladl!

14 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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28 - Answer one of the following (A) or (B): | @3 (<) 9i (1) 515t asi J250 - YA
What would happen when if ........ rdie Gy 13Le

(A) Volcanic eruptions under sea or ocean | bed! glaw cond &5lS 5 1593 & gu |
S L ZVEDN (PR A L

M‘ JM‘ "5 L&::La.” [ES N} -o
Soladali plawd L)lge ()9S5 cum Ly

water.
(B) The magma is intruded concordant
(parallel) with the bedding planes.

29 - Choose the correct answer: 1 JaGd Aomiouall Al ¥ sl -4
The light intensity in the seas depends on | ole slod! o2 seliniud sus ad g
all of the following except ........... | e e Lo Gl Les Js

amount of light that penetrate sea water . mdisle Jis bitie guatiaees ()

amount of light that reflected from o (ye (puSaioll s guall AieS @
sea surface. ol

The wavelength of light. e3aliinge Jobo (D)

®0 @ 6

The water temperature. sLal1 3y p A 3 @
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30 - Give reason for: 1ok Lt Jle v
Gulfs are formed in some shores and O (o Ay 1 Ol 315,58
rarely in others. NESCAPANPV- P AV PR PRANPYA{

31 - What would happen if: s ole Ayl L La -Y
Slow cooling and crystallization of magma | ¢si=i o3t Lealeld sitadt w )
containing less than 45% of silica content. Ste (e JAT ISl e

32 - Write the scientific term: rode JIAN alal pllaiaal | COSY -YY
Plane which divides the crystal into two | ¢y 315,500 @udy @1 @ giuatl
identical halves. Lol pegaliiie

H
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33 - What is meant by: 123 dguadall Lo -V
Hydration process. e

34 - Answer one of the following (A) or (B): | :@ (=) 91 (1) o1 3adt dsmi a5y -1t
Compare between: 1o OB
(A) Formation of volcanic island arcs & |&#95 #5221 v“{é 02985 -

formation of the Red sea (concerning: “ e Y o
tectonic motion) (RASAGAT C 0a)
. .. Gl golly ado¥) 2015050 Sl gotl -0
(B) Primary seismic waves & secondary et A
. PUREIPRITS
seismic waves.
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35 - Study the given figure and answer the 1@ Jlaal) JSEN sl -¥0
following: 13 e
(~) X X (~)
(~) Z 47 (~)

surfaces what are their types? Slogio IS £53 Lo 33155 puic Lo

b- If (C) is a sandstone which in contact | ¢tes sz (C) wasalt cols 1) :Lols

with the igneous body (D). (D) ol st e SU
Interpret the produced metamorphic | &' Jsmiell Sualips gidial
rock.
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36 - «Trees have several benefits to the forests | ascw (e JSI mga 39 HLaxd U, -¥1
& agricultural environment » ~cdue 531 At g LAY
[llustrate the importance of trees. ¥ el gy i3 5 95
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37 - Answer one of the following (A) or (B):

Mention an example for it:

(A) Giant reptiles ruled Earth during the
Mesozoic Era and extinct at the end of

the Cretaceous Period.

(B) Chemical elements with very high

density forming the Earth’s core.

1(@) 91 (1) Gl 3uadt i ) -YY
RICPRESY
IME o)W Oole 48Mes caslg) -
Lolad s ,a31 g Ao gl | 3liod | i
(S oildall yunali dlg
alistiale aubieS polic o

02)¥1 (B 19

38 - Answer one of the following (A) or (B):
What would happen if....
(A) Falling heavy rains accompanied with
strong winds on limestone rock.
(B) Basaltic rocks subjected to water rich
in dissolved oxygen.

st @ (@) 91 (1) ot gadt st - A
rubie S 1300
Bagas rhp Lgoias sl bogiu -
$ ! gniall e
4 olie slad CL s oyt -
SomuS Y
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39 - Answer one of the following (A) or (B): | :@2 () 91 (1) ot gudt s yis1 -¥4
Justify the following: ; ud
(A) The ratio of oxygen and carbon dioxide (CO,) O881] sl b B s

: . S olis 2 @315 (O) uanus¥Iy
remains constant in the sea water. ol
ol - j
(B) The plant stem is positively phototropic. | st stau¥ e go Gladt Gl o

40 - Write the scientific term: 1ole JIAM elall pllamel| LIS - £ ¢
Plate tectonic motion forming transforming | gs-we La-cie g 25985 48
vertical faults. Aages dtlans|

41 - What is the importance of: JAacdal! ooyt dcedi g - £

The natural grazing.
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42 - Choose the correct answer: + dadd Aomouall Al W1 Jis ) - ¢ Y
From the characteristics of the desert | - Ayl rouall Gblicdl jailas (1o
increased area .....

@ Increased light intensity & oolasilg ¢ guall 3o Bals) @
reduction in relative humidity. e A gl 3

@ Low temperature & 30yl A ys alasn! @
reduction in relative humidity. e B gl J31 olasal

@ Decrease of light & Agle 11 gLl ylg & guad| At @
increase in relative humidity. 3

@ Increased light intensity & gL g o gualf 5t B3l @
increase in relative humidity. e A gl 3

43 - From description of this rock: 1988 dall st IS (b - £ Y
identify it and then mention one use of it: | Lelasiul 1S3y Gsall le b yas
a. It is a muddy rock rich in hydrocarbons, a1

mostly of plant origin and it is a waxy 459058 95?3190 il ko pnio -
solid state. o Anads Wl B i 939

b. Metamorphic rock resulted from exposure | £ 72 sz e o

of limestone to high temperature. B 85ty
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44 - Compare between: 30 =31 95 g Clocud ISH (s LB -8 8
-Aladi ¥ g A be S oS 5 Coos
Calcite quartz
%«J\SJ‘ }3)‘353‘
Chemical ........................
composition
T T ]
Cleavage ........................
B X T S

45 - Study the given figure and answer the ‘ O ol @D L) JSad) (papsl - €0
following: e Y. P AGY Al

a- What are the geological processes that | ol ius stsemtialieatile ¥
take place at numbers (1) & (2)? 3V V) (0 US 2 Bus

b- Why the structure number (3) is formed? ‘ §(¥) iy ISt 955 Ialed s Lol
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